HENEREREES i
SHS5E3H158 0K)

$:550) (847 : kg)
pHE i miEH o2 = 1B Z 1B " =

SE 188 T 62.3 109 101
<Y 3,932.0 99 46
£S5 997.1 1,469 200
HAF LA 627.0 281 69
AATHLA 26.5 746 324
JUALA 4,887.0 620 20
LS ALA 245.8 404 99
TFELSHLA 428.3 945 81
=LA 325.9 311 24
HSRHLA 174.7 153 26
cLoo 51.1 89 20
SCh 251.6 281 43
2007 101.9 414 70
FAATLY 24.7 1,543 569
<7+ 25.6 1,500 609
TYUAYTAFA 533.8 240 20
TVAVTAF A58 55.0 898 800 |5 <"
F7> 07 1,221.8 306 70
HFHES 481.2 62 20
L 55.6 289 26
FHLY 36.6 5,000 209
IXHHT 176.7 990 21

e 14,659.9




[fi¥£a]) (847 kg )
FRZETELE AiEE W =2 = B Z 1B fm &
SHE  18% sH= 49.8 6,028 650
o 76.5 26,666 3,300 |5n
TYRSERF 51.5 415 150
5S4 NIFI A 90.5 689 493
ZILAA B 86.6 529 351
U 5 1,149.7 1,010 411
U %8 630.0 6,700 2,889 [f0 o
SIINSESy 119.3 710 611
=247 119.9 1,190 199
4T 2,301.3 775 70
AFF<3 149.4 2,000 1,000
astuE 19,484.4




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BEEXRE o > up YAVIN 198.3 1,290 300
3E ASHISSIA 468.0 2,100 1,398
e 27& ASHISSIA 1,112.7 1,150 1,000
#H o > up YAVIN 354.3 1,290 789
ho 238 JOUSH LA 223.1 763 109
ESWYWXAHT 61.3 681 71
EXTVYRS 164.7 295 100
EXRVHA 29.7 380 100
DODEIE 218 E IO 1,276.2 350

D
[ =]

T2

3,888.3




[(&£) (BT ¢ kg )
JRETELE ffEg n = = 1B Z 1B B &
JPEK 182 E=5X 176.7 2,000 700
<73 25.5 2,000 1,000
=247 151.8 1,100 1,000
h 238 TS H 22.6 400
N 547.2 2,000 1,300
=45 61.6 1,200 800
aituE 985.4




